a(0 z) (um) tor PV Ratio a(0y) (um) for PV Ratio (0 X) (um) tor PV

Ratio

=
o
N
=
o
w

G(0 X) (um)

10?

[any
o

10?

a(0 x) tor merged vertices (um)

p—— :
Ratio

1.Ud| o Lwor E r T 3 1.Uof
= SO L
: i SRRGINTEROAR : L
| RRTE R 11 R (| IR T G| RRIESIITE L SndRag3zanadn e oL ERE LR EEIEE
o HITETRETE = TR = RTRLE o
051510 -5 0 5 10 15 20 0 E 10 & 10 1520 05 =15=16 -5 0 5 10 15 20

Vertex z (cm) Vertex z (cm) Vertex z (cm)

Ja¥aYa) [mYaYaYaYaYa¥aYa¥a) nren

EE ﬁ\ﬁ%:%%@@ |

(@ == m:1»)

=

LLLI
<
C
C
C
(NN
pLvy

@%

10%f::t

o(0y) (um)

10?

10

0(0 y) tor merged vertices (Um)

Ratio
Ratio

Oy =i5=10 5 0 5 10 15 20 ®Oo=15-10 50 5 10 15 20 05 =15=16" -5 0 101520
Vertex z (cm) Vertex z (cm) Vertex z (cm)

[8)] Sooooon ooooon

10° =

10%E::

0(0 z) (M)

------ SRR 6 O | 107

10?
10

0(0 z) tor merged vertices (Um)

1. 100

Ratio
Ratio

0-15-10 -5 0 5 10 15 20 ®0 -15 -10 -5 0 5 10 15 20 050 -15 -10 5 0 5 10 15 20
Vertex z (cm) Vertex z (cm) Vertex z (cm)

0.95;




	Contents
	Page 1


